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QUESTION 1

Which of the following routes is NOT considered an internal route? 

A. A route received from a BGP peer within the same AS. 

B. A route originated by a router in a different cluster of the same AS. 

C. A route received from a BGP peer from a different member AS of a confederation. 

D. A route received from a BGP peer from the same member AS of a confederation. 

Correct Answer: C 

 

QUESTION 2

Click the exhibit. 
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Router R2 receives a route to 192.168.1.0/27 from router R4, and sets the local preference to 110. Router R1 receives a
route to 192.168.1.0/27 from router R3, and sets the local preference to 80. Both ASs have a full iBGP mesh. 

What path does traffic destined to 192.168.1.0/27 take from router R1? 

A. R1-R3-R8 

B. R1-R2-R4-R8 

C. R1-R3-R4-R8 

D. R1-R2-R4-R3-R8 

Correct Answer: B 
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QUESTION 3

Which of the following organizations would an ISP based in Europe approach for an IP prefix assignment? 

A. ARIN 

B. ICANN 

C. RIPE NCC 

D. LACNIC 

E. APNIC 

Correct Answer: C 

 

QUESTION 4

Click on the exhibit. 

AS 65540 is using MPLS to provide BGP shortcuts for its iBGP routing. Which routers must be configured with the
"configure router bgp igp-shortcuts rsvp-te" command? 

A. Routers R6, R1, R4 and R5. 

B. Routers R1and R4. 

C. Routers R1, R2, R3 and R4. 

D. Routers R2 and R3. 

Correct Answer: B 

 

QUESTION 5

An Alcatel-Lucent 7750 SR is configured with an export policy to redistribute its directly- connected networks into BGP.
Which of the following databases contains the routes for these networks? 

A. The routes are in the RIB-In. 
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B. The routes are in the Loc-RIB. 

C. The routes are in the RIB-Out. 

D. The routes are not in any of the BGP databases. 

Correct Answer: C 
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